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DIRECTIONS :

Do not open this booklet until you are told to do so.

This is a test of your competence in high school algebra. TFor each
problem there are listed 5 possible answers. You are to work the problems,
determine the correct answer, and indicabe your choice by making a heavy
biack mark in the correct place on the separate answer sheet provided. A

gsample follows:
1. If 2x = 3, then x equals:
(1) 2/3; (2) 35 (3) 6; :
(k) 3/23 {5} none of these. :

The correct answer for the sample problem is 3/2, which is answer (L},
so you would answer this problem by making a heavy black mark under space k
as indicated above.

If you should change your mind about an answer, be sure to erase completely,
Avoid wild guessing, as wrong answers count against you. Do not mark more
than one answer for any problem, Make no stray marks of any kind on your
answer sheet,

When told to do so, open your test booklet to page 2 and begin. When you
have finished one page, go on to the next, The working time for the entire
test is 80 minutes,



-
2
P

If x and y are unegual rational numbers, then x -—

(.1).. is.always less than zero

A2)dig-always-greater-tHEN zero ‘
(3) can egual zero. NS PP
(4) cannot equal zero f“ Y
{5) ~is ah'iffatiqnal~numbET. e

J 7 g
2. 125 a equals e

. - i f
(1) 5% : k

2 5la !

(3) SLH% a

(4} -5¢5]a

(5) |5a] -

3. In changing Hbi}ﬁﬁi to a radical whose coefficient is 1, you get as
a correct ansver:

W
(1) v
(2)
(3)
(k)
(5)  Juss an’
., Seclve for x:
3. % 1
(& ) [ R——
a
(1) 1/3 . 1
(2) 0 z ;
{(3) - 1/3
(h) -~ b
{5) none of these, .

2 ‘ -x 517 K
1 -3 A
-1 30Kl

One of the values of =x is:

( l) 6 ; ,X ¢ + ) 7o y
(h) 3 T 3 . ,R.x; 4P
(5) You cannot tell. 'ﬁfl | Y &mf}x P

- \-“;ﬂ'_.:' Fa— o :
The area A of a circular sector varies jointly as the central angle &
and the square of the radius r. If 8 is held constant, what effec

deoes doubling the radius have on the area?

Divides it by A Ao
Doubles it
Multiplies it by &
Multiplies it by 280
None of these.
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12.

The equation V T+ x =13 N hxuw w\¢» 
A J i 4

x ot %;Q’T
} has two roots ;
2 }---has-no root '
) .has.three.roots
) has one root
) none of the above is correct

The parabola Ly = kxz ~ kx - { has a horizontal tangent at the point

(1) ({(1/2, -2)u \
(2) (0, _7/h)!~ = |

(3) (s5/2, 2) @ﬂmg}} 5 ~ 4 :

(h) (5, 73/4) ™ AT X

(5) none of these. I

The eqguation of the line that has a y-intercept of -3 and forms a right

angle with the line -2x -3y = 5 4g

(1) 3y + 2x = -6 ﬂ N s
(2) 2y - 3x = -6 bz o 2 g

{(3) 3y + 2x = -9 oo

(4) 2y - 3x = -9 Ly - e

(5) 2y - 3x = -3,

To rationalize the denominator of the fraction - 13 y one mey multiply

5+ {97

the numerator and the denominstor by

w. (1) 25 - 509 3\/’""
(2) 25 + )\/_

(3)

(&) 25 - N’“‘
(5) 25+ \/9

A solution (x, y, z) of the system of linear equations wx +.y + bz =
x +3y + 8z.=

(2) (1, -3, 1) B R

(3) (-1, -2, 1) ;a4
(B (1,71, 8 *

{5) none of these, ,}%ﬁ f

Let A= {x: x is a whole number and 2 < x < 3} and let

Then set A

(1) is equal to set B

(2) includes set 3B

(3) is equivalent to set B
(4) is a subset of set B
(5)

B |

- none of these

X +2y + 5z

]
i

f .
B = {0}
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27.

29.

Another way to write {a Hb ) is
a + b
{1) ~on
1 1
21 7 *3
ab
R
(4 a+ b
(5) ab,

The sum of the digits of a two-place number is 12. If the owrder of the
digits were reversed, the new number would be twice the original number
less the sum of the digits., What iz the original number?

vy |
) s - {\

_,,-—\‘;'\ v%ﬂ s : w!{ ’i”
(3) 51 Y b
(B) g Y ‘ o7 g
(5) &2, oy o ﬁ“; T ¥ SN

Y ‘ da e

If the sides o% a équar%'éie eaé£ increasedrby 12 inches, the area is
increased by 200 square inches. The length of a side of the original,
square is S

) 2 inches

Y 2 1/3 inches
} 10 1/2 inches
)
)

3 2/3 inches
2 1/4 inches.
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Let y, z, w be real aumbers. e
(a) (yz)w = y(aw) I
(b) ylaw} = y(wz) o
Wnat law of multiplicatien in the zet of real numbers was used in each step?
Check the one answer that answers both (a) and (b)

(1) (a) Distributive Law; (b) Commutative Law
{(2) {a) - Asscciative Law; (b) Commutative Law
(3) (a) Commutative Law; (b} Asscciative Law
(4} (a) .Associative Law; (b} Distributive Law
(5) {(a) Commutative Law; (b} Distributive Law.
The reciprocal of 31 - 2 in the form of a + bi iIs
(1) 2 - 31 S
( 2 ) - 2 - 3i ks ‘.,t;

2 3. '

— 4 =
{3) st od
() ~§.+ é.. o {3

A {
- -3

(5) IR




31.

1351

33.

3h.
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A can do a piece of work in 8 days and B can do the same work in

5 days. How many days will it take them working together to do this

work?

(1) % days

(2) 6 1/2 days

(3) 2 days

(W) 3 1/3 days

(5) none of these,

If x - 5 divides
then k equals:

1) 31

2} 69 et
e < Cydee

35 ? PE e

b} o 39

2 3

. . & .1 1 .
In solving the equation -3 - we find that one

value of % is:
$ l., .

)

) -5 j ] /
) -3 - 2{?- T e
) -3 o - dg a/
)

{1+ 2[321

If one root of the equation 2x - 5x + ¢

1
]
=
n
=

-
ct
=
¢
ju
o+
=

o
Q
ot
=
1]
=
=
Q
O
I«
o
i

i
e

) = 3/2 - Y .
) b .« ¢ Ly WU A
) 25/8. RS T

One man walks 4 miles per hour and a second man walks 6 miles per hour.
If they leave at the same time and walk in opposite directions on a road
from the same point of departure, how long will it take them to be

25 miles apart?

{1} 2.5 hours .
{2) 6.5 hours !€u~-‘~w»m§mmim‘ 4
{3) 20 hours '
(L) 1.% hours
{(5) none of these.

th , . S
The 507 term of the progression 1 + x, 1 + &x, 1 + Tx,... is

(1) 1+ 150x Y
(2) 148x + 1 o
(3) 50 + 3725% (A S A
()
(5)

50 + 1h8x
x + 1h8,
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36, Determine k so that the roots of x° + 2kx ~ 1 = 3k will be egual.
L g ’, N ’/::: ,’:& :j B .

\

37.

38,7 sIFf the function xa - kx + k - 1 has che of its zeros twice the other,
%47 then one of the numbers for k is:

S e e E s .

- 3/ 2, p L . ’ & o =

» -~

39, The coefficient of the term involving x8 in the expansién of ?(xa +:j§y)l

boL
! ¥

40. Tf a polynomisl P(x} is divided ﬂ& (x - 2) the remainder is 1 and when
divided by (x ~ 1) the remainder is 2, Tf Pl(x) 1is digiﬁgd by

(x - 1)(x - 2), the remainder is:




